
1

QUICK REFERENCE GUIDE
GEAR DRIVE ASSEMBLY KIT INSTRUCTIONS

www.veii.com

1-800-321-2311
8700 BROOKPARK ROAD
CLEVELAND, OH 44129

©2021, VENDORS EXCHANGE® INTERNATIONAL, USAVE1020858, Revision A

R

Any coils mentioned in this document are ordered separately from these kits.

3

1

1

2

NOT SHOWN

5

4

6

ITEM NO. PART NUMBER DESCRIPTION QTY.

1 VE1016272 DRIVE ASM, DUAL DRIVE 5

2 VE9323B SCREW, #8-18 X .50 THTS PHIL DRILL TEK 5

3 VE2995 VEND MOTOR, FOR AP 4000/5000/6000/7000/113 5

4 VE1017140 TRAY NOSE 5

5 VE4317 SCREW, 8-32 X .375 PHMS PHIL TC 10

6 VE7207K NUT, 8-32 KEPS 10

7 VE1020573 AP DUAL DRIVE QUICK REFERENCE GUIDE 1

THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY
OF VENDORS EXCHANGE INTERNATIONAL, INC.  ANY REPRODUCTION

IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION
OF VENDORS EXCHANGE INTERNATIONAL INC. IS PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

TOLERANCES:
DIMENSIONS  SEE CHART
ANGLES         1/2

GEOMETRIC TOLERANCING
PER ASME Y14.5M-1994

MATERIAL:

FINISH:

DRAWN BY:

ENG

DATE:

DESCRIPTION

SIZE

B

REVISION

SCALE: 1:1.5

UNLESS OTHERWISE SPECIFIED:

SHEET 1 OF 1DO NOT SCALE DRAWING

VE1020838
PART NO.

DIMENSIONS ARE IN INCHES

DESCRIPTION

CN NUMBER TAS
N/A

N/A

12/1/2021

A.01

15741

AP DUAL SPIRAL 5 WIDE KIT 
7000 (OUTSIDE SALES)

PRELIMINARY
ISSUED DRAWING 3/2/2022

DATE

MFGDATE

TAS

- -

TOLERANCES

.020-.125

.125-.250

.250-1.00
1.00-5.00

5.00-16.00
16.00-40.00
40.00-80.00

RANGE IN INCHES
0.004
0.004
0.004
0.011
0.019
0.030
0.045

MEDIUM

Please read the following instructions to install this kit on your tray.

Remove the kit from its packaging and check for any missing parts or 
quality issues. If any parts are missing or damaged, contact Vendors 
Exchange at the number below.

1

2

3

3

4

6

5

# PART NUMBER DESCRIPTION QUANTITY 

1 VE2995 Vend Motor 1

2 VE9323B SELF DRILLING SCREW    11

3 VE1016272 GEAR SET WITH
LOOSE HUB COMPONENT 1

4 VE1017140 DUAL COIL TRAY NOSE 1

5 VE4317 SCREW, 8-32 X .375 2

6 VE7207K NUT, 8-32 2

AP Dual Spiral 6000 - 7000 − Kit No. VE1020858 -  Motor



R

QUICK REFERENCE GUIDE
GEAR DRIVE ASSEMBLY KIT INSTRUCTIONS

www.veii.com

1-800-321-2311
8700 BROOKPARK ROAD
CLEVELAND, OH 44129

©2021, VENDORS EXCHANGE® INTERNATIONAL, USAVE1020858, Revision A 2

Not Compatible Compatible 

** BEFORE YOU START PLEASE ENSURE THE COMPATIBILITY OF YOUR DUAL DRIVE KIT **

AP Dual Spiral 6000 - 7000 − Kit No. VE1020858 -  Motor



R

QUICK REFERENCE GUIDE
GEAR DRIVE ASSEMBLY KIT INSTRUCTIONS

AP Dual Spiral 6000 - 7000 − Kit No. VE1020858 -  Motor

www.veii.com

1-800-321-2311
8700 BROOKPARK ROAD
CLEVELAND, OH 44129

©2021, VENDORS EXCHANGE® INTERNATIONAL, USAVE1020858, Revision A 3

•	 Align points  A and B on the Nose kit so that it aligns with points A and B on the Tray. 

•	 Once Nose kit and tray are aligned use the (8-32) screws and (8-32) Nuts included in the kit to secure the Tray nose to 

Tray.

Tray Nose Installation 

A

A

B

B



4

R

QUICK REFERENCE GUIDE

www.veii.com

1-800-321-2311
8700 BROOKPARK ROAD
CLEVELAND, OH 44129

©2021, VENDORS EXCHANGE® INTERNATIONAL, USAVE1020858, Revision A

First, insert Backing Plate with Gears (VE106272) into the slots in the tray motor slot as shown (A). Using the Self-Drilling Screw 
(VE9323B), hold the backing plate in position while installing the screw as shown (B).

Before Install After Install

1

GEAR DRIVE ASSEMBLY KIT INSTRUCTIONS

Screw Thru

Slots on Tray Motor Wall

Vend Motor

Self Drill Screw

Self Drill Screw

A B

AP Dual Spiral 6000 - 7000 − Kit No. VE1020858 -  Motor



5

R

QUICK REFERENCE GUIDE

www.veii.com

1-800-321-2311
8700 BROOKPARK ROAD
CLEVELAND, OH 44129

©2021, VENDORS EXCHANGE® INTERNATIONAL, USAVE1020858, Revision A

Install Coil

End of Left Coil

2

Then, install the left coil. Rotate the coil so that the end is at the 6-o’clock position at the 
end of the install.

12

6

End of Left Coil

12

6

GEAR DRIVE ASSEMBLY KIT INSTRUCTIONS

Installed Coil

AP Dual Spiral 6000 - 7000 − Kit No. VE1020858 -  Motor



6

R

QUICK REFERENCE GUIDE

www.veii.com

1-800-321-2311
8700 BROOKPARK ROAD
CLEVELAND, OH 44129

©2021, VENDORS EXCHANGE® INTERNATIONAL, USAVE1020858, Revision A

3

4

Next, install the Right Coil to the Loose 
Gear/Hub.

Then, install the Right Side Coil and the Gear/Hub 
on the Motor Hub position as shown in the detail 
above, making sure that the snaps on the Motor 
Hub fully engage into the recessed area on the 
Gear/Hub and the end of the Coil should end at the 
6-o’clock position (see symbol).

6-o’clock position

Snaps on Motor

Detail of Motor 
Hub Tabs

Right Coil

Loose Gear/Hub

GEAR DRIVE ASSEMBLY KIT INSTRUCTIONS
AP Dual Spiral 6000 - 7000 − Kit No. VE1020858 -  Motor

12

6



7

R

QUICK REFERENCE GUIDE

www.veii.com

1-800-321-2311
8700 BROOKPARK ROAD
CLEVELAND, OH 44129

©2021, VENDORS EXCHANGE® INTERNATIONAL, USAVE1020858, Revision A

5

GEAR DRIVE ASSEMBLY KIT INSTRUCTIONS

Finally, repeat steps 2 through 4 to complete 
the Coil Installation. Check the ends to main-
tain the 6-o’clock position on each one, adjust 
if necessary

12

6

AP Dual Spiral 6000 - 7000 − Kit No. VE1020858 -  Motor

12

6

12

6



R

QUICK REFERENCE GUIDE

www.veii.com

1-800-321-2311
8700 BROOKPARK ROAD
CLEVELAND, OH 44129

©2021, VENDORS EXCHANGE® INTERNATIONAL, USAVE1020858, Revision A 8

GEAR DRIVE ASSEMBLY KIT INSTRUCTIONS
AP Dual Spiral 6000 - 7000 − Kit No. VE1020858 -  Motor

NOTES


